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1. A fascinating species of water flea exhibits a kind of flexibility ~ (2023. &&) 2LEE 47.4%

FO{T Z0IM TS

A fascinating species of water flea exhibits a kind of flexibility that ~ call adaptive plasticity.
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A B32? Water flea, flexibility 12|11 adaptive plasticity

(LuMiel E0J)

Water flea, flexibility 12| adaptive plasticity ~ YZ0A 2t CHEt MFE,

(A) That's a clever trick, because producing spines and a helmet is costly, ~
— That 22 R0}, spines and a helmet ~ 2t& E310|, FO{Zl Z... giu.

(B) If the baby water flea is developing into an adult in water that includes ~

— the baby water flea... T Xl 2 water flea 2 FZ... AR 7ts4d... D2k (C) £2.

(C) So it may well be that this plasticity is ~ because it contributed to reproductive fitness.

— So... ¥M...? this plasticity = reproductive ~ 2&, £ Xl Z... reproductive B
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it develops a helmet and spines ~ If ~, the water flea doesn’t develop these protective devices.
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— (A) That's a clever trick ~ sgmes and a helmet ~

et "EE (B) — (A) — (C)

(B3T) MX| (A) HlA (C) = HZY =oh

¥

(A) That's ~ ability to survive and regro'auce. (C) So it may well be ~ to reprdijuctive fitness.
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— (C) So ~ this plasticity is an adaptation ~& F0{%l = flexibility ~ adaptive plasticity ~2t ¢1Z4...?
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(A) The water flea only expends ~ (B) If the water around it ~, the water flea doesn’t develop ~

(C) There are many cases, across many species, of adaptive plasticity. Plasticity is conducive ~

(A), (B) £ water flees, (C) £& 1152 0| bz}, OpF 2|,

— (c) 7t OtRZ|0|H... §EZ (B)—(A)—(C), 1HHZIE, (B) o (A) Li=dl= &2
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A fascinating species of water flea exhibits a kind of flexibility that evolutionary biologists call adaptive
plasticity.

(B) If the baby water flea is developing into an adult in water that includes the chemical signatures
of creatures that prey on water fleas, it develops a helmet and spines to defend itself against
predators. If the water around it doesn’t include the chemiCal signatures of predators, the water
flea doesn’t develop these protective devices.

(A) That'’s a clever trick, because producing spines and a helmet is costly, in terms of energy, and
conserving energy is essential for an organism’s ability to survive and reproduce. The water flea
only expends the energy needed to produce spines and a helmet when it needs to.

— it 2 the water flea. —

(C) So it may well be that this plasticity is an adaptation: a trait that came to exist in a species
because it contributed to reproductive fitness. There are many cases, across many species, of
adaptive plasticity. Plasticity is conducive to fitness if there is sufficient variation in the environment.

— A& it may well be that ~27? that 0|3} LHEO] likely to be true, 15 it 2 this plasticity.
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2. The most commonly known form of results-based pricing is ~ (2023. &) 2YHE 70.9%

FO0|Zl Z0j|A TEMEL
The most commonly known form of results-based pricing ~ called contingency pricing, used by lawyers.
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A HEF2? contingency pricing 2|1 lawyers
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Contingency pricing 12|10 lawyers ~ %o

(A) Therefore, only an outcome in the clg;ent’s favor is compensated.
~ 23 530, ORI Z2... 24.

[yl

— Therefore, ~2 HO0}, outcome in tﬁe client’s favor

(B) By using contingency pricing, che.nts are ensured that they pay no fees until ~
s P
01"' :"’Oﬂ A7l,.clients ~ no fees ~ Client 07| BM...?2 FO{ T Z,
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(©) Contmgencz pricing is the majqr way ~ In this approach, lawyers do not ~
— lawyers = 411, is 2 20t cgntlngency pricing 718 &%, O|A A& Etef,

THet (C) 7h K A, O e
In this approach, lawyers do notreceive fees or payment until the case is settled ~

O M Of E}’E? (A) Therefore, only an outcome ~ the client’s ~

V= not ~ until ~
.. O{H3SIX],..? Aha OX[8F2 HA A

E=

— (B) By using contlngency pricing, ~ O|Z{& O™ &,

22 BUY...?2? 18 BsAE B2 FAE..
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- d2[3 ELU (A) 124 AF0of oiet s{Z2H0[ (B) A&, 28 K|, HI AL =G

et HEe (C) — (A) — (B)

2023%HAE S0AM M HAZ o2 E Z A

MR MEHE D 1.9% @ 15.9% @ 13.6% @ 29.1% (& 39.5%
RExzE Z 71z G242, of?
Ct2l (A) Therefore, ~ OFRE|2 “IHX|=0|...

— (B) By using contingency pricing, ~0| (C) Contingency pricing is ~0|A] AFHAEA|

(&) B2tA2(2 Of= Obx e Tt oix)
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(A) Therefore, ~ From the client’s point of view, ~ law firms. Their biggest fears are high fees ~

(B) By using contingency pricing, clients ~ In these and other instances of contingency pricing,

(C) Contingency pricing is ~ In this approach, lawyers do not receive fees ~

F&H, (In these and other instances ~2 H0t) (B) £ 0| Yz},
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28 Y7y
M A B2 23 contingency pricing 22 A|Z, FO{ZT 2 B AF QEO| 50| THEH(C),

0| client 2 &O0|A Hi2tEE= LHEO| (A),

— BN 42&0|M CHEE contingency pricing & YUtstst 02 2|7} (B).

The most commonly known form of results-based pricing is a practice called contingency pricing,
used by lawyers.

(C) Contingency pricing is the major way that personal injury and certain consumer cases are billed.
In this approach, lawyers do not receive fees or payment until the case is settled, when they are
paid a percentage of the ey that the client receives.

(A) Therefore, only an outcome in the client’s favor is compensated. From the client’s point of view,
the pricing makes sense in part because most clients in these cases are unfamiliar with and possibly
intimidated by law firms. Their biggest fears are high fees for a case that may take years to settle.

N 23S SSHOR o B,

— Therefore, the client compenskhtes the lawyer for only an outcome in his favor.

(B) By using contingency pricing, clients are ensured that they pay no fees until they receive a
settlement. In these and other instances of contingency pricing, the economic value of the service
is hard to determine before the service, and providers develop a price that allows them to share
the risks and rewards of delivering value to the buyer.

2= other instances: 1t0] et E4+E 2= HH 02|01, XAtSA SUALRE.
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[Words and Phrases] contingency pricing S Al 2= 2% compensate 2[5 ]E X|=3lCt make sense EtE5t

Ct intimidate 248 FCf settle S§ AL}, &o|E Lt settlement 2|2 injury &3, £4 payment X| 22
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3. Humans are unique in the realm of living beings in knowing there is ~ (2022. 10) 2&E 63.9%

707l 201N THA ST

Humans are unique ~ If people experience ~, it is because they realize the future exists, ~
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$12? Humans are unique 12|31 they realize the future exists, 2172 Edst

(Lu*tol E0])
Humans are unique 12| 1 they realize the future exists ~ L&A Zt tt2t MEE,

(A) That is why we so often have a_poor relationship with the future ~

That 2 why ~ poor relationship with the future ~ 23, 28H&,. F0{ZT 227
— Humans are unique ~ If people ~ they realize the future ~ 38H&, H3& AZO0| &|X| Q4.

(B) The future, on the other hand, must be imagined ~ and, ~ uncertain.

on the other hand ~2 H0}, the future 12|31 imagined ¥ uncertain CHH| E30|, FO{ZXl =... g1,

— (C) 28t now, which ~ because it is present ~ certain ~0| 0[0] sl &, }2tA (C)—(B)

— 12|11 (B) The future ~ always uncertain ~ Getting along with the future is not an easy ~0j

M (A) That is why ~ poorZ HZAAA,

et 2 (C) — (B) — (A)

2022'd4 10E 220 M o4 HMZ o HEH X!

MRE MEHE (1D 4.9% @ 17.0% © 20.6% @ 21.4% ® 36.1%

egoz MX @ g, X &Y
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(C) the comfort of the now, which ~ more powerful than the future ~0fA{,

— (A) That is ~ a poor relationship with the future ~2...?

OfF 2| HHltz OFR 2| E... (A)—(B) 7IsE7I?

(A) That ~ poor relationship with the future ~; we worry ~ fail to predict the future ~

(B) The future, on the other hand, must be ~ uncertain
CHEl (A) poor, worry, fail ~2 20} 28X, uncertain... (B) & £3%, 12Q...

— on the other hand, 0| &3] ofL|L|.

(1) TEol of2{E ™, OpX| 2 HA!

(A) 24t we worry excessively ~; we fail to predict the future ~0fAf,

— (B) The future, on the other hand, ~%...?? (C) But having this knowledge does not imply ~=...

??
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Humans are unique in the realm of living beings in knowing there is a future. If people experience

worry and hope, it is because they realize the future exists, that it can be better or worse, and that
the outcome depends to some exterit on them.

AW it 2 people’s experiencing worry and hope, =M it 2 the future, they ¥ them 2 people.

— realize 58 0{ (that) thé future exists, that it can be ~, and that the outcome depends ~= H&.

(C) But having this knowledge does not imply that they know what to do with it. People often repress
their awareness of the future because thinking about it distorts the comfort of the now, which tends
to be more powerful than the future because it is present and because it is certain.

— KW it 2 this knowledge, =M= the future, Al

(B) The future, on the other hand, must be imagined in advance and, for that very reason, is always
uncertain. Getting along with the future is not an easy task, nor is it one in which instinct prevents

us from blunders?

— it 2 gefting along with the future, one 2 task.

(A) That is why we so often have a poor relationship with the future and are either more fearful than
we need to be or allow ourselves to hope against all evidence; we worry excessively or not enough;
we fail to predict the future or to shape it as much as we are able.

it 2 the future, worry excessively ~ % (we worry) not enough 2?
— ZtZt more fearful than we need ~ % allow ourselves to hope against ~, 0| 2 QI&}| LIEfLEE S40],

— we fail to predict the future or to shape it as much as we are able.
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4. Bipedalism, upright walking, started a chain of enormous ~ (2022. 10) 2EE 69.0%

707l 201N THA ST

Bipedalism ~ It liberated hominin arms for carrying weapons and for taking food ~
But bipedalism was necessary to trigger hand dexterity and tool use.

— B M HH2? Bipedalism, liberated hominin arms, 12|11 hand dexterity and tool use

(LuMiel E0J)
Bipedalism 12|11 hand dexterity and tool use ~ QL&A 2} CHal MR 5,

(A) This creates the ability to use each digit independently ~

— This & the ability to use each digit ~ Z&, FHZl Z2... each digit ~ B3 F, YTt Ho{7t1,

(B) Hashimoto ~ concluded that adaptations underlying tool use evolved independently of those
required for human bipedalism because in both humans and monkeys ~

— tool use = U1, bipedalism = AU, ® HM Y 7t540]... D2f= QAHSHA (C) 210 X|F HE

mjo

(C) Bipedalism also freed the mouth and teeth to develop ~

also £ 20} the mouth and teeth ~2| &, %l 2 hominin arms, tool use ~ 8 HO| 24 F 0L} 7t5.
— EF2f (A)... each digit, tool use... (B)... tool use... each finger..2 20}, (C) = A E2t0| OfLL|,
R EE (B), 1 T
tool use evolved ~ because ~ each finger is represented ~ physically separated in the hand.

tool use, each finger, the hand AlA{ 0ofC|&,

— (C) Bipedalism aIs* freed the mouth and teeth ~ 2®&2 each finger, hand 80| &t CHZ0f Lt

— (A) This ~ to use each digit ~ tool use ~ tool use = U1, each digit = (B) each finger.

et "EE (B) — (A) — (C)

2022'd 10E 220 M M M2 O{HHE EH|!

C} &
H T

to

MX|E MEHE  @© 5.0% @ 31.0% @ 16.6% @ 30.6% & 16.8%

RECZ @ & 0|, &f? THEr (B) Hashimoto and co-workers concluded that ~7+ % TH2t...2 O3 2|712?
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— Z0{Zl 2 jibérated hominin arms ~0| Al (C) (also) freed the mouth ~2, J124A also..

(871) 01282 =2 W X% B2t Bix)

(A) But without bipedalism ~ impossible ~ in accelerating the hand during ~

(B) because in both humans and monkeys, each finger is represented ~

(C) Bipedalism also freed the mouth and teeth ~ These developments required larger brains whose
energy cost eventually ~, accounting for up to one-sixth of the total basal metabolic rate.

(A) 2 (B) & hand Y fingers &, (C) (also ~) the mouth and ~Z E0}, (C) 7t OHF 2|, &£ $HIHK|£?

n

—

r

t2t (C) =%t larger brains ~ energy cost ~ one-sixth of the total basal ~0| Al O{C|Z...
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Energy and Civilization: History(Vaclav Smil, MIT Press) 20| A &3,
Arms £ Xt9&7 o= S Bipedalism 2| evolutionary adjustments £, focus € &3 hand dexterity and
bipedalism Z2d AZ0| F0{%l 2 Z= 4k,

e

tool use &

adaptations underlying tool use ~ £t Hashimoto and co-workers 2|74 8! 1 27{7} (B),
— Hashimoto &% @A L& 0|A tool use £ ?Idl each digit(finger) S &M AL 582 QAHSHAME,

FO{Z 2 FHE |88 CHA| ZZ8H= 20| But without bipedalism, it would be impossible ~ (A)

— EE CH2 £ MO A bipedalism 7|0 % O|2 QI%} larger brains 2 energy 2H| & 0] (C).

Bipedalism, upright walking, started a chain of enormous evolutionary adjustments. It liberated
hominin arms for carrying weapons and for taking food to group sites instead of consuming it on the
spot. But bipedalism was necessarv to trigger hand dexterity and tool use.

- 2 =0 M But 2? A5|de from ~ 9|0|2 A El conjunction

.
.....
______
o

(B) Hashimoto and co-workers concluded that adaptations underlying tool use evolved independently
of those required for human bipedalism because in both humans and monkeys, each finger is
represented separately in the primary sensorimotor cortex, just as the fingers are physically
separated in the hapd.

independently of ~& EH, FOZl Ctetut HiX| L= X =2 =&, 2 St 5822

ol =

2= 15 evolv
T8 QA &Y, each finger 2t because ~ W& (S humans, HE monkeys)2 212, 0|& (A) X &%

o A4, Ol M 2% But without bipedalism ~ L& ZZE 2[3t | ~ monkeys 2t T2 humans.

(A) This creates the ability to use each digit independently in the complex manipulations required for
tool use. But without bipedalism it would be impossible to use the trunk for leverage in accelerating
the hand dwolmak/nq and tool use. ~ But 0|2 &£? 07l Ctet OpX|at 28 2=,

(C) Bipedalism also freed the mouth and teeth to develop a more complex call system as the
prerequisite of language. These developments required larger brains whose energy cost eventually
reached three times the level for chimpanzees, accounting for up to one-sixth of the total basal
metabolic rate.

— basal metabolic rate(BMR) ~< basic life-sustaining function ~0| Z 23t} calories, RMR (Resting ~)2 2,

EX712 S =

[BhM] &+ & 2, 5 ME 22 ¥ Tty =S AMH 2= HUYH, 242 20/del S NFE ot F7I18 FHist
1, SME SHOIM Hie iy, HEO| s A2 JPMZE & U SiFQACE 3 F & B2 EXFet =7 A8S LY
?3i 22}t (B) Hashimoto?t S22 =7 AH82| 7|27t 5= H 30| Izt & & 20| Bast 4310 SEH2 = TS
Cta ZE2X| A0, A2 fs0| ZR0M &0 A= &7120] 22[H22 LR O s AN 24 &718: 14 42 235 T2
M TEEOf LEEHLEZ] II20[CH (A) O A2 =7 AFE0| 2ot S8t XM 2t £718ts SHHCZ AI8Y + = 582 T
S0f Wit J2{Lt & & 20| IOt =7 HE 8l =7 AME & &(28)2 7t&sre I X3t 922 38 58S A8t A
O 27tsg AOItt. (C) 7 & B2 =ot Yt X|otE AtREZ oo Hofe| T =H2=2M O ST 22| M= HAE EHAl
ZiCt. ol2fst Moz Qlgf o4 X| H| 0| 2= HHKA|Q| 38 =0 0|2 & 7|= thAES] HT 622 15 AHX|5t= O 2 FX

7t 2L = RAL.

[Words and Phrases] account for ~& XtX|SIC} basal metabolic rate 7|2 CHALE
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5. When two natural bodies of water stand at different levels, building a canal ~ (2023. 9)

0%l 20jlM! When two natural bodies of ~ at different levels, building a canal between them presents ~

44

— A BH27? different levels 12|21 complicated engineering problem

(LuMo| E0]) different levels 12|11 compligated engineering problem ~ L&A Zt th2t T E,

(A) Then the upper gates open the ship passes through.

— the 2 EO0}, the ship £30|, ZO{Z Z... gi4.

(B) When a vessel is going fipstream, the upper gates stay closed ~

— when ~ going upstream... 0% 2& when 22 A|&E|£0... & THEHO[...? (C) 10 LEA.

(C) To make up for the difference in level, engineers build one or more water “steps,” ~
— the 2 20} the difference 30| & H0j, F0{%l = different levels ~7} 0|0f s,

THE(C) 7 A Him, O HIR:

It has a long rectangular shape with concrete walls and a pair of gates at each end.

— a pair of gates ~2 H0} gates ¥ 0], (B) the upper gates, (A) 0= the upper gates... Aha!
— (A) A5 Then 22 20t (B) 7| HX A~

s
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(A) Then the upper gates Spen ~ (B) When ~, the upper gates _s—?‘a"x/-?fbsed ~

et 2 (C) — (B) — (A)

Fug LTy

When two natural bodies of water stand at different levels, building a canal between them presents a
complicated engineering problem.

(C) To make up for the difference in level, engineers build one or more water “steps,” called locks, that
carry ships or boats up or down between the two levels. A lock is an artificial water basin. It has a long
rectangular shape with concrete walls and a pair of gates at each end.

water lifts the vessel to the level of tiie upper bodv of water.

‘e
Yeu,
taay
------
........

(A) Then the upper gates open and the ship passes through. For downstream passage, the process works
the opposite way. The ship enters the lock from the upper level, and water is pumped from the lock until
the ship is in line with the lower level.

EX7IE 3N Xtz

[SHA] & 22| AtH =50 M2 CHE =2{0| JAS I, DA S AtO|0f| RHE M= A2 ST 3EH EXME THE0f HC (C)
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AU
= SELH (A) d82 LE /Z 2
SUSHCE MR @l 42, 1 182 FUttH2 XSHot 7t 9IF +=¢/2l 232 021, 7t O R2 =22
Q . [Words and Phrases] canal 23} complicated £%$t passage St opposite ™ HCf

9| in line with ~1t Y X|5l= vessel (L) MEHHH] basin ()& 0| make up for ~2 E™[EF]SIC} artificial 2135 Q!
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6. Culture operates in ways we can consciously consider ~ (2023. 9) 2EE 55.6%

707l 201N THA ST

Culture operates ~ consciously consider and discuss but also in ways of which we are far less cognizant.
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— A BH27? Culture, consciously g

1l far less cognizant

o,

(LuMiel E0J)

consciously 12| 1 far less cognizant ~ 2 04A 2f Tt MEF,

(A) In some cases, however, we are far less“aware of why we believe ~

— however 2 20}, far less ~ Bt #50| ﬁ'ﬁfﬂl, FO{Zl 2... far less... &2 20|, 20 however??

. < . .
(B) When we have to offer an account of our actions, we consciously understand which excuses ~

— consciously understand = £ %l 2 consciously consider, O|A A|Z & Oz (C) $HH,

(C) We select the cultural notion as we would select a screwdriver: ~ 2&2 F0{Xl Cratnt AZ0| o &Y.

g .
............

Tt2t (B) 7F AW, O = EHE: we use cultural ideas as we would use a particular tool.

cultural ideas, particular tool ~0|A (B)...?? (C) the cultural notion %! a screwdriver 7t ®&, 12|11 &£,

— (B), (C) OlX consciously consider ~ L{-& &Lt (A) far less aware of ~Z, 12| A however, 2|l

et 2 (B) — (C) — (A)

2023%HAx 9 ROo0|M OfF HRMZ ofZ{R T ZH

MR MEVE (1 4.6% @ 25.0% @ 44.4% @ 15.4% 6 10.6%

REo= MX @ & Bo|, ® F
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2R FEZ, o2

— X tteh (B) we consciously, (A) € E L however, ~ far less aware of 7} WOk LF QiQtoi~ QE...?

MEECLH B Zhatet 422 FEH(A) MFet HEE = A2 A HeE ARE(CO)!
4’ o >t

. . . Ll . ", —"““"ﬂ
(C) discursively available ~ not hidden. (A) In some cases, héwever, we are far less aware of ~

‘A
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Of 227t O 2tEE A1 AUCh= WA BEEA| 210 UX| @2 JEHOME 22| MA 22| YF 7t EC

[Words and Phrases] claim &% account &%, 7|= excuse Y notion 7 & screwdriver 23 F E2}0|H Phillips head &

At 20| A= LHAL 2| Allen wrench |2 HA|(BHH O] §Z1do2 & &8 LAYl #X|)
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7. It raises much less reactance to tell people what to do than ~ (2022. 7) 2LEE 51.9%

ZO|El 20| THA S

It raises much less reactance to tell people what to do than to tell them what not to do. Therefore,
advocating action should lead to higher compliance than prohibiting action.

— A BH27? reactance, what to do(advocating action) 212|211 what not to/do(prohibiting action)

(LuMe| £0]) reactance, what to do J12|21 what not to do ~ L&A Z+ Gttt MEE,

(A) This is a prescription that is rife with danger, failing ~ Much bettey/ ~, “To help make sure ~”

— This ~ prescription ~ rife with danger... TtEHO| &7 YLt .
(B) For example, ~ Often researchers ~, saying “Please don’t tell other ~"
— For example, ~ £ E&U|, Please don't tell ~= F0{%l 2 what not to do ~9f ez (C) &ol2.

&
(C) Similarly, I once saw ~ A fragile acrylic sculpture had a sign ~, “Please touch with your eyes.”

“Please touch with ~” = S&8X Z%(what to do), Similarly 2 20}, 38X Z=0| EH CHeHo

— (A) “To help make sure ~” 7t 0|0 sliE, (A)—(C), 22|22 EL,

— (B) “Please don't tell other ~” O| (A) This is a prescription ~ danger ~Z2 @ZAAA

et 82 (B) — (A) — (C)

2022'd 7€ 2o|0|M & HAZ O{HHE EH|!

M-
e

QE

i

MX|E MEHE (1D 3.5% @ 48.1% @ 30.2% @ 9.5% & 8.7%
HeE ® 2 HOl, 2?7 (C) Similarly, ~& EBHA... Aha! (B) For example, ~2| ¢, 2 JHCIH,

=

— (C) Similarly ~ “Please touch ~” 2} A0l (B) “please don't tell ~” 7t 4FTHM S check 3HX| A2 £.

0|4 E¥8! FO|Zl 2 It ~ less reactance to tell people what to do than ~ what not to do ~ Therefore, ~

........

.

less ~ than ~ % Therefore, NE.EOF Xt FE, Ol M Y = 40| CHALL..?

>
— (C) “Please touch with ~" ~ less reactance ~ than “Don’t touch!” ~

A3 2xoz LK B 43 U@, (/g ¥A) BEE (B) ~ (A) — (O)

M7 3N xt=

[BHM] AFESOllA Stx| RrotoF & A2 Roh7| 2Ot o & A4S Hohs 20| EX O M2 XNgg Lo7Ith. 12z dSS XX
ot A2 dES SX5te AR H =2 42 2105 7HE A0|Lh (B) HE S0 A7A=2 S22 Off £0|Lt defar 2
2ol AN AT HOXSHA HE =5 2FE X Yo thst M=o oX|7F UCH AFXS2 AF "CHE FAHH el Fol
AE0A UYL 2R E | TEWMO| AHAI0IACtetn ZSHA| Ot .72t SHHM T XL0|AH B2 40 o|FE X221 Al
BIC (A) Ol= ¥ A S MSOHR ROt M-S £0l= Y22 7H5S X[A|O|Ch &M © E2 A2, “CHE M S0 849 &
HIE w8t SEE MSSH=E 7| fI8H, AF>t=S0] 0] H10]| T3y |H 22w, Salar OHE AFZO| MZ0of CHEt & 7HX|
ZE0f cHERUCED ISO0A 23 FM .72t Eot= AOILh (C) FASHA|, L= oo OjE2t0|A o] }IA0| £33t Y= £
1 E0[g A E 2L MR|7| 22 2O “Eoz UMFA "2 HZO| UAUCH I X[Al= THKX(T, LIO|A

EEELES
“ETIR| DM 1R CH 8N O M2 Mg pHEof Wt

rir
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8. One common strategy and use of passive misdirection in ~ (2022. 7) 2HE 60.1%

FOIT ZOM ErA S

One common strategy and use of passive misdirection in the digital world comes through ~

&

s

BH27? Strategy and use, mlsdlrectmn 12|32 the digital world

(Luie] £0|)

Q
o
o

Strategy and use, misdirection 12|11 the"'digital world ~ AZO0AM 2 tHet MEE

*
......
o

(A) This action is repeated over and over to nawgate their web browsers ~

A

— This 2 20} This actlon 2|1 their 2 EOF At 2t B0l FOE ... g4,

S
: »

(B) The website is de.s"igned to focus the user’s atf’ent.ion on the action ~

— The website.. 'i';The 2 HO}, website sl E$O|... .-,—O17<I ... SiCt.

(C) This digital m:sd:rect:on strategy relies on ~ nawgatlonal action is to click on a link ~
2= digital misdirection strategy 7t T Xl 2 A o3|t X|, A tt2f, 2|0

— navigational action ~ 2# E3$10|, (B)... 2111, (A) This action ~ to navigate ~0| 0[0] s,

et e (C) — (A) — (B)
2022'd 7E Ro|0j|A Y5 HMZ of2{FEH A

MX|E MEHE (1) 3.6% @28.1% 3 16.0% & 39.9% 6 32.4%
M0l ® E, R HFE H 7[RIz L4, of?
— (C) OFX|2 a website 0| A (B) The website Z...?

ZIEHEl 27F Q3™ 451 20 (B) — (A) HLGH? FO|

2
—_ i B —

(B) The website is designed to focus ~ on the action the malicious actor wants ~

— the 2 20} malicious actor 30|, (A)... Malicious online actors ~7} 0[0] s}, 2tF dioy,

—

EX712 S k=

—
ot

HA

1z

CIXIE MAOIA AMBEX] Rt ® AldS THE X2

M
ru

|7 ot= Z0f Cigt oF 7hX| 2ok TEF A

[

Ot
2
-

=

O[RO{ZTICE (C) Ol2{et CIXE LM A[ME CHE R22 Z2([A ot T2 @ MOIEE YESH|

AMEdtE 22t ALEARZE 74 7| 20| o C|o ALt St= BAM SE0] & AO|EO|M 1

— o1 o =

rMm 4o o
Rl
i

St Z0[2t=s NS HIZ BT Ao Q| EICL (A) O S22 Jot= @ HO|X|Lt

mu o
B

oH qu
3

Ral

= =

t21 ?18h, 2240] Aol FZtH0[1 ALKl S 2 HhE W7tA| of2f ¥ & Z0[5h0]
ol HRXtS2 H AOIEO| ofH FXE 0| AL ALEXOA HESH F= & HO[X[2] MF AtedS
S2RH MBS BY S HHE X2 =2|2{ 1 o|2ot WSS 0|8TLf. (B) 1 & MOIEE= 2o/ Ml ARt AHEALEO]
2 AIAIZ|1 (01§ S0, BAE 25ts A) AEROA & AO|EZL 222 HO|

o
=
FMNS2RH FO|E UE X2 2|58 2 &t
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9. The fossil record provides evidence of evolution. The story ~ (2023. 6) 2LEE 63.3%
FO{T 20N Tt S

The fossil record provides evidence of evolution. The story the fossils tell is one of change. Creatures
existed ~ no longer with us. Sequential changes are found in many fossils ~

o

Al E$127?? The fossil recdrd, evidence of evolution 12|11 sequential changes.

&

—

(LuMie| £0J)

The fossil, evidence of evolution Jé[‘ﬂ._sequential changes ~ A&O|A 2t CHel NFE

(A) If multicelled organisms ~ have evolved before single-celled organisms, ~

— If multicelled ~ before single—celled"... W cell OH7|E... ¥Z 7hs EHO|, FO{Zl 2... QiCt.

(B) The fossil record supports this Qred/ct/on multicelled organisms ~ after ~ single-celled organisms

— this2 =0} this prediction ~0|, 01"' ‘:L... aich

. v . .
(C) Apart from demonstrating that evolutlon did occur, the fossil record also provides ~

— evolution did occur ~= 917“ T2 evidence of evolution ~1F 1, & ttaf,

A Etel (C) =Bt For example, the theorv predicts that single-celled organisms evolved before multicelled ~

the theory predicts ~0f|A (B) this prediction (multicelled ~ after ~) ~ 22, 2|1 EL| (B) &t
— the opposite ~0|M (A) M5 (A) If multicelled ~ before single-celled ~2A~

et e (C) — (B) — (A)

2023%H: 6F 2ol0fAM Y-S HAMZ o7 ZH|

CtH
[= sy

to

MAE MEHE D 3.7% @ 13.3% ©® 24.1% @ 22.2% ® 36.7%
EHE (B) = AlET 20| 37.4%, f?

— (B) A& The fossil record supports ~ £l 2 The fossil record provides ~2F €X|, &Ml 210| (B) £...?

0|7 Z8!
AW, =S4 4 YS == H, 128 2 AOo|Lt,

(B) A% The fossil record supports this prediction ~ this prediction Z& &

§
s
=
muh

.2l
=M, 28 (B) 2 BEXE &%... ™A (C) - (A) or L ¥O| 7}5...?7

(A) If multicelled organisms were indeed found to have evolved before single-celled organisms, ~

(C) Apart from demonstrating that evolution did occur, ~ For example, the theory predicts that single-
celled organisms evolved before multicelled organisms.

(C)—(A) 7+57? T2t (A) indeed 2 E£0}... If multicelled ~ before single-celled ~ 2+ E$0| XM CHatof,
- (C)... SiCt. #1 2 (B) 2Y the opposite ~0| (A) 22| ¢1& 1z,

(A)—(C) 757 (C) M&F Apart from ~2 2 20} evolution did occur ~ Z+H#H B O| ZH0f, (A)... QIC}.
— (A)—~(C) £, 1 BtH= OfL|2tH... ZE2? (C)—~(B)—(A)
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The fossil record provides evidence of evolution. The story the fossils tell is one of change. Creatures
existed in the past that are no Ionquwith us. Sequential changes are found in many fossils showing the

change of certain features over time frgm a common ancestor, as in the case of the horse.

— that are no longer ~= F0{ creatijres & 4.

(C) Apart from demonstrating that evolution did occur, the fossil record also provides tests of the
predictions made from evqutlonarv theory. For example, the theory predicts that single-celled
organisms evolved before ml}ltlcelled organisms.

LR BEEAE UFUE AN Z0N 2 H BT U EN

(B) The fossil record supports th" is prediction—multicelled organisms are found in layers of earth
millions of vears after the flrst appearance of single-celled organisms. Note that the possibility

(A) If multicelled organisms were mdeed found to have evoived béfore single-celled organisms, then
the theory of evolution would be reJected. A good scientific theory always allows for the possibility
of rejection. The fact that we havé“nft found such a case in countless examinations of the fossil
record strengthens the case for evolutionary theory.

X712 3N xt=

[B1M] =t 7|52 Tiete| SHE MS L. 40| M= 0[0p7|= B0 #tet ZO|Lt. H= 2|2 eHSH| He d4==
Of MAH0= EMUCE 2| BLROMKME AlZo] X|Hof et sS2| ZHY22REH 53 52| telg EoFs B2 oY
oM LEol Hopot HAHECH (C) Tt Lojtts AS SFots A 0=, ot 7|E2 Eot TS20M SO T o5
of tigt HIAEE MSetch & S0, T=t22 HME E=0| CHMZ 4= O|- o T=CtD ofFstct. (B) &t 7|52
ol ol== HeHst=4, EZ S T E 20| X7 X S0A A O gt &

[Words and Phrases] fossil 24 sequential €& 9| organism ¥&, 77|H| reject A2 5ICH countless & = gl M=

2 B2 examination T At strengthen Z3}5ICH appearance 3 demonstrate QS s}HC}
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10. In economics, there is a principle known as the sunk cost ~ (2023. 6) 2LEE 63.5%

. 4
In economics, ~ the sunk cost fallacy. The idea is that when you are ~, you overvalue that thing.

Z0|Zl 20| M E

127 the sunk cost fallacy 12|11 you overval

(Luo| E0|)
that thing ~ 2&0A 2t

The sunk cost fallacy 2|1 you overval

person can do is quit.

(A) Sometimes, the smartest thin
est ~ quit...? FO0{ %l = you overvalue...

— Sometimes, the

(B) This leads people to continue on paths or pursuits ~
3, F0{Zl 2 overvalue that thing

—

. L%t

This = people to continue on path ~
— people to continue ~ ZE|L|, J2f= (C) £,

(C) Actually, you can leverage this human tendency to your benefit.
— Actually... 0|4 ol FE 7l =... A2|2 FHZl = overvalue & £8H, 20| can ~ benefit??

A ©2e (B), 1 Fee:
Or someone may continue pouring money into a business that is clearly a bad idea in the market

________
.
.
et

E:

:]_E—I =

.....
.
.
wes®

— (A) MF Somef‘l-mes the smartest thing ~ quit.‘~ bad idea(B) 2{L| quit(A)...
. O{={SLX|... Aha OFX| 2 HX!

.
.
LI

— (C) Actually, you can ~ th|s human tendency ~ O|A=E 08 £

CHEF (A) 2F (C) & 0l Z0| OpX|&t?
(A) Sometimes, the smartest thing ~ quit. Sunk cost doesn’t ~ a bad thing

(C) Actually, you can leverage ~ to your benefit. Like ~, you, too, can invest a great deal
it... O|Z1 ofL|Ll.

to your benefit ~ you can invest ~0| A (A) A5 the smartest thing ~ quit
old 7ts, &3l (A)—~(C), Og|

!
2,

(A) not a bad thing ~0|A{ (C) to your benefit..
8t Sunk cost doesn’t ~ bad thing ~0f| Ci$H XX LfEAA

Chet (C) — o om
..?2? <& recommendation

-(COE=E@R=
metM ZE2 (B) — (A) — (C)
20238 6 Z20A 01X HMZ o2 A
o 24
MX|g ME 16.1% @ 36.5% ©®24.8% @ 14.7% © 17.9%
Be M0l @ 2, K BFES B NPLE.. YLR, A2
(C) this human tendency £, (B) people often remain ~ Or someone may continue pouring ~2}
28 JZChAM of B2 F=h) SiHete.. #2(C) - () 5.2 Pernrnranne
(C) Actually, you can ~ to your benefit ~ you can |m/é'st a qreat deal ~ (A) the smartest thing ~"qtut
= 38X recommendation, J2|1E A,

2= to your benefit, you can invest ~2 20},

(A) the smartest thing 2 quit...
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(1) 22t22 S Me OpX|ef e EHA!

(A) Sunk cost doesn’t ~ a bad thing. (B) Or someone may continue ~_clearly a bad idea ~

(C) Like someone invests ~, you, too, can invest a great deal ~ to ensure you stay on the path ~

S22 AT HlW,,, 2|2 2 T2 ME2}.. (C) you, too, can invest ~ to ensure ~0|Al O|C|Z...??

(A) MF Sometimes, the smartest thing ~ quit. ~ 0|74 OfL|L].

(B) M5 This leads people to continue ~ pursuits that should clearly be abandoned

(C) you Of|A (B) people... O| &3I4, LIE=... 2HS| Z7|Z|0{0F & pursuits... =X 35| HZAO|...??

- Op22l& (C), MEE (B)—(A)—(C).

2 g % 74

the sunk cost fallacy &3, F0{T =2 2Xd, 2873 A£0| (B), 1 s{ZAXM0| (A) ™,

mlm
o

— the sunk cost ~ 2t 2| Yroz &g (C), 1 A& 127t (A) =t

In economics, there is a principle known as the sunk cost fallacy. The idea is that when you are
invested and have ownership in something, you overvalue that thing.

(B) Mmue on paths or pursuits that should clearly be abandoned. For example,
people often remain in terrible relationships simply because they’ve invested a great deal of
themselves into them. Or someone may continue pouring money into a business that is clearly a
bad idea in the market. o

\ 4

P ey, - wPrrnua, "y,

(A) Sometimes, the smartest thing a person can do is quit. AIthough'i’H:s is true, :t has also become
a tired and played-out argument. Sunk cost c_Foesn t always have to be a bad thing.

—this ¥ it2 25 So

imes, the smartest.j:f'ling ~ quit € 9|0,

o
K
R

(C) Actually, you can leverage this human tendency to your benefit. Like someone invests a great
deal of money in a personal trainer to ensure they follow through on their commitment, you, too,
can invest a great deal up front to ensure you stay on the path you want to be on.

this human tendency... &7 Et2t, | 9|, O{®3X|? Aha! This tendency = human £, 0|2 &0} O FHZ,

— (A) Sometimes, the smartest thing a person can do is quit ~ quit... L§ &4t 0|74 OfL| 2,

— (B) people to continue on paths ~ people often remain ~ Or someone may continue ~ HtZ O|7{AA

EX712 M =

[B1A] BH=olAM O = B|E 2F 2t 24T A2[7F ULk 62{20| ofH Ao FAStL 2/HS 7HXH, AAZ X|LHX|

A SASC= EZ0ICt, (B) 0| A2 AFR S0 233 ARF0{0f ot= B2E A% WEAHL FFE ASKSHA oo,

of, =2 OM Aol B2 Ads 1 A &
o
=

Yo| L OFOILCIOfQl AP0l A& =5 ZO0tF
A

e

o[tt, O| 0| TolEfete, D2 EoH Y

Al 0
A2 OtLILH (C) &M Z, o2{22 o] AZtH el d&S o0 SO| =|=F 0|8& = ALt FAF| AHUO| X

= 2t telel of
£2 B 2t517| flof B2 =2 712 EO|HOA FAtStE AFRME, 22 Eot 20| AL H2 20| =]
U7| e MRz B2 A[=]2 FA 5 ULk

[Words and Phrases] principle & 2| sunk cost fallacy Oi = H|-& 2& ownership 2&-3# overvalue X|LIX|H SA|SIC,
IHCH B 7LSEEE quit XISHCt; HHE, 7| played-out 20| B, H2 argument =& pursuit €, &7 abandon 11Tt

L, B 7|SHE} pour 2£0FRLH follow through on ~2 23ICt commitment 2%, ME up front MX|Z22
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11. What are some characteristics of cities that must be maintained ~ (2022. 4) & & 58.2%

707l 201N THA ST

What are ~? If this ~ Here, we focus on productivity and diversity as characteristics of cities.

— A BHL? Al EM o2 M productivity and diversity.

(Luel E0I)
Al E92 2 A productivity and diversity

(A) Given that gold mining cities and goal mining cities ~, their vulnerability is ~

A
— productivity 2/0] A5 &= §10], LI R gold mining, vulnerabifity...??

(B) This is because ensuring productivity and diversity is the driviq.é force for ~

— productivity and diversity & 2X[3}l1... L|EXoZ JE% Jd2ie (C) 2E1AM,

(C) The same is true in cities. ~ The same...? T %l 2 =S 1=t

-. o

il

o
HA F

orr

R EE= (B), 1 =Y,

(B) 28t However, the industrial ~ a single industry is vulnerable to ~

Single industry % vulnerable to ~ 23 E327?

— (A) Given that gold mining cities ~, their vulnerability ~ 7} O|0f s{{&, 22|21 =L,

— (C) The same ~2 (A) Z4t the importance of biodiversity is essential for ~ the species

et "EE (B) — (A) — (C)

2022'd4 48 2o|0M LS HMZE ofZHHEH A

S
=1

QE

Hr

MX|YH MEHE (1) 8.7% @ 41.8% (3 29.2% @ 10.1% G 10.2%
Ctel (B) 2 A|Z0] 70%, & 282 Rt A= o 3...7 (B) 2t vulnerable to social ~ 28X,

(C) M5 The same is true ~ cities will continue to exist ~ =8%&, 1214 ¥ The same is true...?

ZZ0 FOISHH £ UL, D/, 6 B =...7 A @ 2 otaict,
(A) E8F The same is ~ (C) M5 The same is ~ S$H(?) the same 0| HELtT 71710]..
— HH0| £|0f LIEE... (B) 2} (C) £ cities £... (A) the natural world ~ O] Or22[4|...?

HEE (C) - (A) 7I5..2 53!

(C) In a society where people of all ages and income levels live together, and diverse industries
coexist ~, cities will continue to exist overcoming environmental changes ~

......

.....

>
(A) Given that gold mining cities ~ have risen and fallen, their vulnerability is obvious. A city where
various people gather in various industries is secure against social changes.

Cities 7t environmental #H3lE 35, A& &0t &2 U(continue to exist overcoming ~) J2{1& FA[,

— gold mining cities ~ risen and fallen ~ their vulnerability ~ O|H & A2[??

(&1 (A) is ~ is ~ (B) is ~ is ~ (C) is ~ will continue ~ Ah! (C) 7} OFX|2H & (B)—(A)—(C)...?
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What are some characteristics of cities that must be maintained even if the population decreases? If
this question can be answered, a new city model can be proposed based on the concept. Here, we
focus on productivity and diversity as characteristics of cities.

(B) This is because ensuring Droduct|V|tv and‘ -diversity is the driving force for sustainability. For
example, if there is a place to: work people gather and work there, and the population gradually
accumulates to form a city. HG)wever the md-ustrlal structure that depends on a single industry is
vulnerable to social chanqes :

(A) Given that gold mining c1t4es and coal m/n/nq cities., have risen and fallen, their vulnerability is
obvious. A city where varibus people gather in‘various /ndusrr/es is secure against social changes.
The same is true in the natural world, and t‘ne importance o? biodiversity is essential for the
sustainability of the species.

— X 2% Giyén that gold mining cities ~ = X7 single industry is ~ 22, 0|}

‘e

(C) The same is true in cities. In a society where people of il ages and income levels live together,
and diverse industries coexist while depending on each other, cities will continue to exist

overcoming environmental changes such as population decline.

i
o

of.

?
9]

The same ~2 A the importance of ~, continue to exist ~= &% Ct2k systainability 23, &£ 8t 71X =2

— people of all ages and income levels ~= & £l various people 2 7H|Z Q! 0f.

ENIZ 3N xt=

[HA] HIE Q7t EOSHEtE BEA| RXIZO{OFZ St EAIS] R 7HX| EHS2 FAA7? 2ef of ZEO| iEgE &= AU
CHE O 7Hgo 7[2510] 22 A 20| XM etE & /ULt o7| M R2[= =A|2] SESE d4dn Ligddo| =82 =&
Ct. (B) Ol Y4tgdt CiFd S EFsts AO| X% 7tsdS flet #&53H0|7| WZO|Ch O E S0f 2ref et 27t AT
O, Al S2 R0 20| 25 ot0 Q7= HXt SHE O ZAIE S8, JgLf T MY 2ESE Y FZE ALY
o H3of FOfSICE (A) & EAISI EHE EAS0| 8Yd4 siE AS 25t AARS2| g2 2ot crdst
Ao Ciet AFRS0] 20l EAlE MY Eloto| oHgHOITt, At MAOME OHEZER|O|N, 4= el Sad2

Zo| K& 7ts580 QUoiA EHO|Ct (C) =AI0AME OFEZEX|O|Ct 2E AFEOR &

=
(=} A =1 =
2 O|ESIHM SESHE ARl0M EAIS 2 QT Aot 22 A HotE
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12. Both ancient farmers and foragers suffered seasonal food ~ (2022. 4) 2LEE 66.7%

FOIT ZOM ErA S

Both ancient farmers and foragers suffered ~ During these periods ~

s
ru
4
rg
njo

~J

A E$2? Both ancient farmers and foragers suffered ~ 2 20} Z3&& = 123{H Cf

—

(Luol E0J)
Both ancient farmers and foragers suffered ~ Q&O0|A 2+ Ct2t MEE,

(A): Typically, in complex ecosystems ~ unsuitable for one set of plant species, it almost inevitably suits
others. But in farming societies ~, then catastrophe emerges.

rlo
Okl

8. Hes FZEAE §0]...?

— Typically ~ suits ~, But in farming ~ A2 C}2 & M9, F0{Zl it

(B) This is firstly because foragers tended to live well ~, and secondly because ~

— This = foragers ~ live well ~ &, live well ~ 2 E20} 3™HN, FO{X 22 £-H, A =2 ofL Y.

(C) But ~ farming societies were far more likely to suffer ~

more likely ~2 20} X}O|&, =0l H2r2 S8, Jd2fA But, ZE[Hl. (A), (B) & CHA| EL,

-

— 1 XIo| ™o chst /01 BAM  firstly, secondly U typically 2 =0t 48| Z &Y.

et e (C) — (B) — (A)

2022 4¥ 2o|0M 4 HMZ oz 2H|!

MX|H MEHE D 7.5% @ 22.4% @ 19.4% @ 17.4% 6 33.3%
RESE MX| @ & HO[, &i? FoT ctetof 0|0, 0f ¥IH E0{2E EH,

— This is firstly because ~ 0|A4|, 12| 1 secondly ~ (A) Typically ~ 43| (B)—(A), LIHX|= OFX|2¢,..?
OfF 2| Hht= o] Zgt2? 1t (A) Of|A (C) 7t5...?

(A) =&t in farming ~, a sustained drought, ~ (C) X5 But ~ farming ~ more likely to suffer ~

— But... 3 farming ~@!0|...? sustained drought 7tX|... CtA| But ~ more ~ suffer...? 0|71 OfL|&t0}?

M7 3N xt=

[BHM] DO S5t =8 Myl =& A2 ME A £5S FHAULE 0 7|2t S o{2I0|et | & 2+ OfH Z0fl= Hi7t 1
= M ZA2|o S/S A0|H REVH X H 2] HUUS 2 Atzls 8 el

Z{0|Ct, (C) 2Lt O Q3 7|7t S0t 57
L

ol 7|20 A2 7580l 2N H =t 8 MU0 s¢

=
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13. Anger and empathy—Ilike matter and antimatter—can’t exist ~ (2022. 3) 2LHE 71.1%

ZF0o{T 20A Tt E1 Anger ~ So when you shift a blamer into empathy, you stop the person’s angry ~

}
e
o=

H227? a blamer 12|11 stop the person’s angry ~

(Lu Mo Z0|)

a blamer ~ 3! stop the person’s angry ~ &0 2t CHat MR 5,

(A) The relief from ~ turns into forgiveness and ~, a willingness to work toward solutions.

— 2= relief, forgiveness, willingness to ~S2 2 &0} OrR2],..? 20 &410],,.? L& 072,

(B) Suddenly and unexpectedly, however, the blamer knows just how sad, angry, scared, ~

......
"a,
.....
.
.
.
.

ZtXH7| the blamer knows...? £2 &, FO{Xl 2 EH

Lo,

.._
.
..........

(C) And what ~ the person who's on the defensive? Initially, ~ the ignorant blamer is blind to it.

the defensive &IZ AFEI2...? O|A FO{Zl S0A...? & RE2. =M &% ... Aha! blind to it ~ 0fA{,

— (B) Suddenly ~ however ~ the blamer knows ~ =, (C) — (B)
THEf (A) = REW or OFFE[?

(A) The relief from ~ gratitude ~_a willingness to work toward solutions. ~ 2@& 2 20} happy ending,

(C) And what about ~? ~ frustrated ~ As a result, ~ in a state of quiet, barely controlled rage.

— happy ending Ol A frustrated... rage...? 1% £ QlX|.

et HEe (C) — (B) — (A)

2022 3 2Oo0M 4 HMZ o{ZHRH A

MXE MEHE (1 8.4% @ 18.4% © 30.9% @ 13.4% (® 28.9%
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|ZF0| Ho| Mt °f? 0Tl 2 =kt a blamer O 234, 0|E ATt HL1.,

N

o

he person who's on the defensive... 0|4 blamer 7| OtHIG|... (Ml E0[Lt &= EW 28 57¢

=5 (Ot
o &0 & the ignorant blamer & HF .. =0 E0{@X| 1...) 23 It T2 (B) & 2L

I

— M5 the blamer 7} wink...?

"t A,

- = SEe T

HRE R SYE.. A HS 7H51 (A) OIM (C), 52 T HHHR...? -t 2 E "_’_-
i 3"' o "'.._.\."‘\

(A) The relief ~ gratitude ~ rage turns into forqlveness ~ W|II|nqness to work. toward solutions.

>

(C) And ~ Initially, ~ frustrated ~ As a result, ~ in a state of guiet, barely controlled rage.

— forgiveness Z12ilAf solutions... 21211 frustrated, rage...? 0|71 OfL|X|,

— frustrated... J2iA| rage € 72 &1 J=0... (37t e¥E glol) FA| forgiveness...? 0| A= OfL|X],

(A)—(C) &, 1 gt = OftL[2tH... ZE2? (C)~(B)—~(A)



147
2 ug % 74
blamer 2F (Cist Z7| 4Ef) defender 2t 24| SHZ 2 It HE #&H =, F0Zl = you £ counselor.

(A) turns into forgiveness ~ a willingness to work toward solutions. ~ 2X| S| Z.

(B) The defender’s wall, ~ his unspoken rage and frustration, disappears. ~ 27} E2|1

(C) As a result, ~ in a state of quiet, barely controlled rage. ~ =7} T+,

Anger and empathy—like matter and antimatter—can’t exist in the same place at the same time. Let one
in, and you have to let the other one go. So when you shift a blamer into empathy, you stop the person’s
angry ranting dead in its tracks.

— stop something dead in its tracks &? Something

L e,

.
.
o

result, the person who’s under attack is usually in a state of quiet, barely controlle‘d{aq’e. 2

s
&
%,

the ignorant blamer =? FO{ % —3 empathy HE|Z O|ME|7| H(anger &EH) bl

ignorant blamer = &2 3}X|
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Q47| 20, (defensive’ :%Pé* Ar2h2) frustrated, :L Z l'f EY 2™ ra
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I nnnnn
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.................

(B) 5uddenly and unexpectedly, however, the blamer knows just how sad, angry, scared, or:lonelv the
defender feels and spontaneously turns into an ally. When the defender feels understood bv the blamer
and that they are on the same side, there’s nothing to defend against. The defender’s wall, and with it
his unspoken rage and frustration, disappears.

0l

— F0{Zl 2 empathy & MEl blamer 250| & 2%, 0|2 QI3 defender B3t 250] SWH 2t ARy,

(A) The relief from no longer feeling “fear or hatred” toward the blamer spontaneously triggers a
tremendous rush of gratitude and — miraculously — the person’s quiet rage turns into forgiveness and,
beyond that, a willingness to work toward solutions.
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[Words and Phrases] empathy &Z matter 2% in one’s tracks FA| relief 2t=(Z) hatred 32 trigger S&}Ct
rush S8, 4= gratitude 10+ rage £ scared ZH2 ally SH(X}) frustration ZHE initially XS0 mirror (A2

&) & 2O FL ignorant X%t barely 7HA S|
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14. When a young child sees clouds moving across the sky, ~ (2022. 3) 2LEHE 59.2%

Zojx 20 TS

When a young child sees clouds ~, the cloud ~ a metaphorical chain begins to neutralize the fear.

-----

e,

— Al B3 2? A young child, métaphorical chain, 12|11 neutralize the fear

.
.,
™,
‘e
.
.

(Lue| E0]) A young child, metaphorical chain, JEI neutralize the fear ~ Y& A,

v
0
L
L

— differentiated from ~, makes things alive ~ 2 O|8{7}.."?-Z2 7t child 8i4|, Yct dof7ta,

==

.....
--------

(B) The cloud may ~ Repression and neutralization through metaphor ~ Faced ~, the child can ~
— neutralization ~ % the child £ £ %l = neutralize ~ % a young child, (B) 7t & EH&l,
THEF (B) 7F A BN, O SHHE:

~ but there is another. Faced with the moving clouds, the child can theorize about ~

2= the moving clouds, the child can theorize ~0j| A O{C|2?

— (A) M5 “Cloud movement” becomes differentiated from ~ @& 2 20}, 13 L,

— (C) M5 Children develop theoretical constructs ~ O| A= O &, O{H3}X|...? Aha OFX|2 HX!
CHEF (A) 2F (C) & 0|= ZA0| OpX|2}?

(A) “Cloud movement” becomes differentiated ~, because the clouds move only if ~

punt
R

(A) only if ~Q ZAL0|Zt mgve dt7| I E0 differentiated... Ot %... S}X| 2 &40],,.? YT (C) 210,

0
.t
T

<
(C) Children ~ separate ~ from ~ the fear of living clouds disappears. If it ~, make a theory.

L= If it ~, make a theory ~ 0|7 recommendation... 2|11, 11E the fear of ~ disappears... ZE |

... 2|0 (A) 2 2 == §iX|, J2|1 EL, separate ~ from ~2,

— (A) becomes differentiated ~0j|A HAZAE|=FLt. 2AF| (A)—(C)

et gE2 (B) — (A) — (C)

2022'd 3 2o|0jM ofFH HMZ ofZHEH A
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1

QE

2118

MR MEVE  (96.4% @ 40.8% @ 17.6% @ 21.8% 6 13.4%

QREC=Z
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©

' @

2} ct2t || cloud, motion, movement, only if, can theorize S0|..

, 2H? A = (B) the child can theorize ~0|Al (C) Children ~ theoretical ~&...?

— (C) M& Children develop theoretical constructs ~ aha! O/ 012 & AREAA TN AZEZ (C) 2.

(1) =22tAEg &= OpX| 8 el X1 (A) “Cloud ~" ~ the clouds ~ (B) The cloud ~ the moving clouds ~
(C) clouds ~ the fear of ~ disappears. If things seem ~, use logic ~ things ~ If it ~, make a theory.
(A), (B) = cloud &, (C) A 2% cloud ~ fear ~ disappears 2|1 SHE =2 If things ~, things ~

— F20| ot Y|...? Aha! ZXI =& 0|8|E 2Tt 0|7} cloud movement, 0|5 YuEtSIA|ZI Z40| (C) Fut

Ll

ot

ch2t (C) 7t otx[gf, ... MEZ (B)—(A)—~(C)
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When a young child sees clouds moving across the sky, the clouds may seem alive and independent,
perhaps dangerous. But if one sees clouds as fleecy lambs, a metaphorical chain begins to neutralize
the fear.  \ Y

(B) The cloud rpay still be thought of as alive,.-but” |t is no longer terrifying. Repression and

neutralization through metaphdr are possible strategies, but there is another. Faced with the
moving clouds, tEE child can theorize about their movement in such a way that the clouds cease
to be alive.

1E there is another ~= F0{Zl 2 metaphorical chain It Ct2 ¢|2 T7J), 2 2|0|=? Another 2t 843 3,

g, neutralization ~1t ¥Z 7ts3t EHO|,
\“
(A) "Cloud movement” becomes differentiated from the kind of movement that makes things alive,
because the clouds move only if they arepushed” by the wind, dnd what can’t move without a

push from the outside is not alive.

— O 2|0-= metaphorical chain ZI}= No longer terrifyi

(C) Children develop theoretical constructs that separate the motlon\ of clouds from the motion of
people and animals so that eventually the fear of living clouds disappears. If things seem
uncomfortably on the border between the alive and the not-alive, use logic to redefine the
boundaries so that things fall more comfortably into place. If it scares you, make a theory.

R 22 (B) £ there is another ~ (A) 7HX| 8 29, 1 ZZ the fear of living clouds disappears ~+&,
— FO0{ Xl 2 metaphorical chain 0|8 Z1= to neutralize the fear 2t X[,

L= TE If things ~2 ¥A 0|2 £ clouds & 243}, use logic ~ 5 make a theory ~& recommendation.
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[Words and Phrases] lamb Of 2l & metaphorical 278 Q| neutralize T3}3}Ct differentiate Xt 3}SICH metaphor 2
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15. According to the market response model, it is increasing ~ (2022. &)

FOIT ZOM ErA S

According to ~, it is increasing prices that drive providers to search for new sources, innovators ~
l

— alial BH 27 increasing prnces 2! search for new sources

(Luio] Z0)) M

Increasing prices % search for new source§\~ AZ0IM 2 tHEF MEE,

(A): Many examples of such “green taxes” e>@st Facing landfill costs, Iabor expenses ~
d cheErof, 0Tl ... gl

— such 2 20}, “green taxe

V
(B): Taxing certain goods ~, and rices, ~ innovation of new sources ~

— increasing prices 2t innovation ~\sources &= F0{ %l = increasing prices 3 search for new sources.

Ct2h (B) 28t The money ~ the tax can be used directly by the government ~

— (C)... tax 8iUl, (A) such “green taxes” ~= U1, landfill costs ~ 50| RE0f Cist 2N HdH,

et -2 (B) — (A) — (C)

Fug LTy

According to the market response model, it is increasing prices that drive providers to search for new
sources, innovators to substitute, consumers to conserve;and alternatives to emerge.

(B) Taxing certain goods or services, and so increasing prices, should result in either decreased use of
these resources or creative innovation of new sources or options. The money raised through the tax can
be used directly by the government either to supply services or to search for alternatives.

(A) Maﬁ y examples of such “green taxes” exist. Facing landfill costs, labor expenses, and related costs in
the provision of garbage disposal, for example, some cities have required households to dispose of all
waste in special trash bags, purchased by consumers themselves, and often costing a dollar or more
each.

(C) The results have been greatly increased recycling and more careful attention by consumers to
packaging and waste. By internalizing the costs of trash to consumers, there has been an observed
decrease in the flow of garbage from households.
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[Words and Phrases] substitute CH-&(CHX|)SICH conserve OFH ALt green tax 2t d)\ﬂ(% 42 2AIZ| 7Lt Tta|sh= ROl AH|
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16. In spite of the likeness between the fictional and real world, ~ (2022. +5)

FoZl oA T E1 In spite of the likeness ~, the fictional world deviates from the real one ~

&

A B 2? the fictional world 12|22 the real one,

—

..............
______
wet®
.
.
.
.
.
.
.
.
.

(LuM o Z0|) The fictional world X the real one ~ QEO[A 2t £t MEZ,

(A) The author has selected ~ The 2 EO0} the author 5'4._4 HHO|, FO1Zl =... gl

(B) Because of the inner qualities ~ endowed thrt)uqh heritage ~, the mind functions as a filter;

LTI
.

.
.t
Y

— the inner qualltles endowed throtigh heritage...? 0|1 &... Aha! the m|'nd TOP" ..ol

Y
.......

(C) The existing world is ~ before it is organized by a human mind. This chaos ~ by a human mind.

2= the existing world ¥ organized by a human mind ~= F0{%l 2 real one ¥ fictional ~, 12[1,

— a human mind = (B) A 2% the mind 2 94, 12|11 £,

— (B) 24t another consciousness ~7} (A) The author ~2 HAZAA

et JEHE (C) — (B) — (A)

EQUER R

In spite of the likeness between the fictional and real world, the fictional world deviates from the
real one in one important respect.

A Y
(C)\\.‘The existing world faced by the individual is i inciple an infinite chaos of events and details

before it is organized by a human mimhaos only gets processed and modified when

\ . .
Den‘celved by a human mind.
1

1
(B) Because of the inner qualities with which the individual is endowed through heritage and
environment, the mind functions as a filter; every outside impression that passes through it is
1
fiItelred and interpreted. However, the world the reader encounters in literature is already processed

and'filtered by another consciousness.
I

(A) Thg author has selected the content according to his own worldview and his own conception of
relevqnce in an attempt to be neutral and objective or convey a subjective view on the world.
Whatév‘er the motives, the author’s subjective conception of the world stands between the reader
and the original, untouched world on which the story is based.

— the original, untouched world ~& the real world £ 2[0].

EX7I20] SED X2

[BHA] {2l MA L HES| MA ALO]2] RAMSO = =735t 5712 MA = dtLtel St SHOAM e A
(C) 7H2lo] HESH 7|E(dH) MAE O|2¢22E Qlghel Fuof o8 Z=2&|7| Hofl= ArdSat M& At
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[Words and Phrases] relevance EtE function 7| 53ICt encounter OFFX|Ct consciousness 2|4 in principle 0| 2K o2 =

infinite £33k modify $=X3}C}
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17. In a process called seeding, you need to have a time ~ (2021. 10) 2LEE 67.6%

707l 201N THA ST

In a process ~ Start telling your family ~ Tell them how you get frustrated and bored with this job.

“““
o

— Y #H2? how you get frustrated.~"with this job.

(Lu ol Z0|) how you get frustratéd ~ with this job ~ QXA ZH CHet MEE,

(A): These stories will make them realize that you are meant to follow your passion.
— These stories ~&"your passion &3, FO{T =2... ¢t F2 07| 2... passion 1= HEZ|HO|.

.
----- .

<
(B) Discuss this almost twice a week.
— This... discuss*2 20t, T Tl 2 how you get frustrated ~ 7ts& £. YTt (C) 21 XT ZAH.
(C) Tell them stories of how you are inspired by the passion ~ Give examples of how someone living a
similar passion started his or her life ~

— the 2 20} the passion E¢10|, FO{Z ... giCt.

X B2 (B) 2Bt The more they see you doing your passion, the more they connect with you emotionally.
2= they see, your passion ~S0|A O{C|Z...?

— (A): These stories will make ~ these stories = (B) 0f Si%|.

— (C): Tell them stories of how you are inspired by the passion Z&Z£ 20}, (B)—(C), 22|11 EL,

— (C) Tell them stories of how ~, Give examples of how ~0| (A) These stories ~Z2 A~

et "Ee (B) — (C) — (A)

2021'd 10E 22|0|M F HRZ O{HHEH EH|!

M-
1

QE

2118

MA|E MEHE 1 4.4% ©@9.9% (@ 32.4% @ 36.7% G 16.5%
QRECZ (C) AIZ0| At 0|4, ES| @ E HO|, &ff?
(C) M5 Tell them stories ~7} Z=0{Zl 2 tell them how you ~2 ¥X|...? JHCIH st LX=0H O,

— (C) (Tell them ~) inspired by the passion ~ F0{Zl 2 (Tell them ~) get frustrated %717t t7...?

o|H =8, ofx|g} &ol21 (A)—(B) Or 1 ¥O| 7t&...?

MX| @: (A)—(B) 7Is5...?
— 0|42 discuss...? discuss & Al (A)... 9iUl, 22|, Y AIZH..? HM skills 7HX| HRA=0|...??
MX| ®: (B)—(A) 7ts5...?
— (A) B2 ME these stories 23 L{£0| (B)... &4,
(B1) o828 =2 ™, OpF el thet M,

(B) 2 (C) Discuss ~ start ~ Find ~ Tell ~ Give ~ S &X{H, (A) will 0|2,
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In a process called seeding, you need to have a time frame in mind. Start telling your family how
you feel about your current job. Tell them how you get frustrated and bored with this job.

—,

(B) Discuss this almost twice a week. Then start doing work related to your passion on the side and
let them see and experience how happy you are while doing this. Find a way to get your family and
friends involved in your passion. The more they see you doing your passion, the more they connect
with you emotionally.

— 2E on the side: ®Xf| 3t Q= Lol FIMSM(E4X 2 ), in addition to your current job

(C) Tell them stories of how you are inspired by the passion and how it makes a difference not only
to you but aalzo/to others. Give examples of how someone living a similar passion started his or her
life and todaly how he orshe is living happily.

(A) These stories will make them realize that you are meant to follow your passion. At times they
need to be surprised with your small achievements, which could be some additional skills you
acquired, or some awards you won in your field of passion.

ENIZ 3N xt=
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[Words and Phrases] on the side F£7t2, X &0
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18. Living in dispersal correlates with a shocking retreat ~ (2021. 10) 2EE 69.7%

707l 201N THA ST

Living in dispersal correlates with ~ retreat from public life ~ It is hard to pinpoint the origin ~

______
----
.

— aial #H 27 Living in dispersal, shocking retreat from public life 2|1 hard to pinpoint the origin ~

t“
o

(LuMiel £0[)
Living in dispersal, shocking retreat fromi ~ 12|11 hard to pinpoint ~ &l A] 2} Tt2t A

(A) Meanwhile, the architectures of sp.r"awl inhibit political activity ~

— Meanwhile...? & O§7|3HCt2,, 7":lE|4- 221717} AT 2 hard to pinpoint ~ 2H=

r
iy

(B) These are both possible, but ‘ewdence suggests ~
— These ~ both.. G1X| . both giHl. 2% (C) 7t ® #M...? O2i = oHH,
(C) It may be because people in the dispersed city ~ It may be that sprawl ~
— may be because... THZE 2 hard to pinpoint 2t XtAA A~

_—d

& EtEl (C): It may be because ~ It may be that ~0|Af O{C|2...?

— (A) Meanwhile, the architectures of sprawl inhibit ~ 0|71 & O|4},..

— (B) These are both possible ~ It may ~ It may ~ F7H0|L| 7}5.

Tt} (B): These ~ both....= (C) It may be because ~, Z12| 1 It may be that ~ 7} 0[0j s{&

et e (C) — (B) — (A)

QE

1%

i

MX

tEﬁ)\EH
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Atrlel S Yottt , OpX| 9k X| F=2|&, (A) — (B) 7ts...7 &Ql3!

HQ

(A) 28t It is not ~, but by privatizing ~ JEA X SYHMOZ TS IE

— (B) These are both possible...? O|A & 22[?? 2|2 &L, (A) A both &+ LHE= 4
(B2) Hi2O 2 d45HAH (?) 2=l |7t BE... D28 =231 — okRnt ofHo? GRL oy
orRel X 43

(A) It is not ~, but by privatizing ~ 1592 HO},,, St

(B) Sociologists point ~ surrounded by people ~ OFRE2|2& F...
2

(C) It may be that sprawl ~ less interested ~ O|& Ao
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Living in dispersal correlates with a shocking retreat from public life, according to extensive analysis
of the Social Capital Community Benchmark/Survey of nearly thirty thousand people begun in 2000.

It is hard to pinpoint the origin of this retreat.

.....
e,
.
.

the;;\‘feel insulated from the problems of the rest o'f'htll;fé"\'/ifé'l‘[d’lt may be that sprawl has attracted
people who are naturawmg with the world, socially or politically.

(B) These are both possible, but evidence suggests that the spatial landscape matters. Sociologists
point out that the suburbs have done an efficient job of sortlnq people into communities where they
will be surrounded by people of the same souoeconomlo'Status

— ,

. N ol . .
(A) Meanwhile, the architectures of sprawl inhibit political activity that requires face-to-face
interaction. It is not that sprawl makes political activity impossible, but by privatizing gathering
space and dispersing human activity, sprawl makes political gathering less likely.

Meanwhile & JHCHAN 2% &) EH, 23{= IF0N,
— same socioeconomic status & 7t%l AtEIE 2 FdEl= communities £ sorting people into ~&|CF £L,
It is not that ~2? &™ 2% 23 1 2A HAL.

— The reason for the assertion that the architectures of sprawl ~ is not because ~, but because ~

M7 3N xt=

[si4d] 2000 0] A|ZH=l 79| 30 HZ2 &2 o Atz| X2 38X 7|F ZAK(Social Capital Community Benchmark
Survey)l| ZEHL(SH 2M0| [E2MH, Z0{H %

Ch 0| YOIKIE 2ol §RlE B

ElL= o™

jgots 22 BN MUSREE 248 YE2 HOIXE AT BRAO| YokD B

[=]
of U7 B2 FXE diM LIMA| Mgl =

MEZFH MEHEACID =7)7] HEY = AL, 2AZE0] ARHo 2 Es FX|
Hoz Mo 2oste o Ja2f 20| H2 MESS 0SS & ULk (B) Of & 7HX7t 25 7tsoiA| 2, S7HY
80| Sttt & 2 37t 2ol Tk Af=|etAE2 1| X[H0| AFRSS 22 Atel-BHH X210 U= AFRS 7t20

[t EESR
o X 2SS AMettt. 22 50| A 2ES 27t TEXE RAY, 2Y SUE AbRe ot 25 2MAELR
N, 2222 X 25 2 7tsotA THEL
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Green products involve, in many cases, higher ingredient costs than those of mainstream products.

ro

? Green products, higher ingredient costs 12|11 mainstream products

Green products,~higher ingredient costs % mainstream products ~ Q&0 A 2} CHERS

A

2H(EE 3lAD), FOT 2... 813, (B) companies 7t 0[0f i, (B)—(A)
THet (C) & A THE or OFX|EE...? ORX|BHO|4, (A) SHHROIAN HZHO| Jhs3]oE,

(A) ~ these companies may ~ leave the\green segment of the market to small niche competitors.

(C) Furthermore, the restrictive ~ such products ~ inferior to mainstream products ~

green segment £ small competitors 0| |(A)... Furthermore ~ inferior to ~ O|# &...? J2|1 L],

=<

— such products ~& F{ %l = Green products,

- 8x¥o2r Fo|Z 2£ (C) & £HA, 12fM Furthermore, L&/

et 82 (C) — (B) — (A)

202289 ROo|M F HMZ o2{F T EH

MXE MEHE 1 5.3% @ 28.1% ©® 19.7% @ 16.9% ® 30.0%

HE 57

—_

. 9H?
HEYE (A) E Helst A2 ok, EME (C) E A skip H27?
— Furthermore, the restrictive ~ 7t {2 HZAA Ct7t2t27}1? OtL|H,

— (B) Even if the green product succeeds, it may cannibalize the company’s higher-profit ~

green product &= Q... Even if ~, it may cannibalize ~7t £ %l 2 higher costs 2+ ¥Z4...?

R eE EE2 FF0AILL.. 2 E 712]= ACh
I+ (A) oA (C) 2, or O Bt 7t5...?
(A) 28t Given that choice, these companies may choose to leave ~ to small niche competitors.

A LT T
T ot A, . .
(C) A% Furthermore, ~ the restrictive ~ may make green products inferior to mainstream products ~

CHeh (A)—(C) 7t5...?
— (A) competitors Off ¥&.,. 18/ = (C) Furthermore ~ inferior to... X|Al0l Z90lg|...??
(A) M5 They'd rather put money and time into known, profitable, high-volume products ~
CHal (C)—(A) 7ts...7 ~ 2E They =? §AF FH F, AHEO[LE 2|AL, (C)... 8i4dl.

4E: (A)—(C) = (C)=(A) = of4H... BEH2 HE=Z (C) — (B) — (A)
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Green products At T&E of /
Green products AFR 2t 2XFO| T2t (B) A 2&tA|,

— SfZHO| thEf (A), O FFCE] 9ol (B) =M =F.

Green products involve, in many cases, higher ingredient costs than those of mainstream products.

(C) Furthermore, the restrlctlve ingpedient lists and design criteria that are typical of such products
may make green products inferior to mainstream products on core performance dimensions (e.g.,
less effective cleansers). In turn, the higher costs and lower performance of some products attract
only a small portion of the customer base, leading to lower economies of scale in procurement,
manufacturifig, and distribution.

(B) Even if the green product succeeds, it may cannibalize the company’s higher-profit mainstream
offerings. Given such downsides, companies serving mainstream consumers with successful
mainstream products face what seems like an obvious investment decision.

(A) They'd rather put money and time into known, profitable, high-volume products that serve
populous customer segments than into risky, less-profitable, low-volume products that may serve
current noncustomers. Given that choice, these companies may choose to leave the green segment
of the market to small niche competitors.
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Z current noncustomers £ green product AFgS SHA =H,
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[Words and Phrases] ingredient cost ¥ &H| populous 2177t B2 niche (A&2]) EAM offering X obvious
ok, 2 HS restrictive M= ingredient A& criterion 7|&(pl. criteria) core @49 dimension XP"J portion £
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20. Recently, a number of commercial ventures have been ~ (2022. 9) 2LEE 62.1%
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Recently, ~ social robots as personal home assistants, perhaps ~ rival existing smart-home assistants.

— SHA HHE2? SOC|aI robots, personal home assistants 12|11 existing smart-home assistants

(Luel £0])

Social robots, personal home ~ U existing smart-home ~ LX0|M 2 et MFE,

(A) They '~: can track the user ~, giving the impression of being aware of the people ~

— traék the user ~? giving the impression ~ ? social robots 7@ AHE Q0|...? Yt Ho{7t,

v
(B) Personal robotic assistants are devices that have no physical manipulation ~

— Personal robotic assistants & F0{Zl 2 social robots ~ assistants, L& 18 &, J2fx (C) £,

(C) For instance, in addition to playing music, a social personal assistant robot would express ~

— in addition to...? & playing music ~I} ¥Z 7ts3t BH¥HO0| 2™ tt2tof, =0T =... giyl.

tt2t (B) Ol O{CI2? (A)...? (C)...7? O{&EU|, O A SIX|? Aha! OFF 2] HXYAA

(A) 28t Although ~, their social presence offers an opportunity that is unique to social robots.

(C) &8t These robots can be used as surveillance devices, ~ tell stories, or ~

OR2 2|2 (A)... offers an opportunity ~ unique ~ J1&8H EL{7|=...7? O 7H|& o2tz L2{F/OF...

- Jd2{1 2L, (A) opportunity ~ unique ~0f CH$H AN HHO| (C)~~

et g2 (B) — (A) — ()

2022 stEr 9 & Hojof| A ofE HAIZ O{2{F T EA|

QI:HL M.
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S
MX|EH MEHE D 4.8% @ 37.9% ® 33.7% @ 12.4% 6 11.2%

AIZ2 2 (B) 41E40| 70% Ol&, E¢2 7HE, 28 A 3.2

l

THet (C) M& For instance, ~ 2 E&L|, HIZ 0|AO0F...?

A o2 H 2, He| %E 2o|L...
Z2O I (C) — (A) 7H5...?

(C) =4t These robots can ~ engage in richer games, tell stories, or ~

(A) A% They might be motorized and can track the user around the room, ~

— richer games, tell stories 7tX| 1Xt9l 7|5€... A2 1= might be ~ track... &4 SIZS&E oL 1., ??

(A) They might be ~ Although ~, their social presence offers an opportunity ~ unigue to social robots.
(B) Personal robotic assistants are ~ Instead, they have a distinct social presence ~

(C) These robots can be used as surveillance devices, ~ engage in richer games, tell stories, ~

— (C) These robots can ~ tell stories ~0i|A O{C|2...7? 2% MHE=Z (B)—(A)—(C)...?
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Recently, a number of commercial ventures have been launched that offer social robots as personal
home assistants, perhaps eventually to rival existing smart-home assistants.

.....
.
----

.

(B) Pe%rrobot:c assistants are devices that “have no physical manipulation or locomotion
capabilities. In)s;eanﬁEy have a distinct soc:al presence and have visual features suggestive of

their ability to jnteract soaallv,—sufh as eves ears, or a mouth.
l
(A) They m|ght be mot_on»zéd and can trac.k ’the user around the room, q/vmq the /mpreSS/on ofbe/nq

social robots. - .

(C) For instance, in addition to Elavinq music, a social personal assistant robot would express its
engagement with the music so that users would feel like they are listening to the music together
with the robot. These robots can be used as surveillance devices, act as communicative
intermediates, engage in richer games, tell stories, or be used to provide encouragement or
incentives.

social presence Zt?

Ol%| social 22 02| AHEHZE X, ‘being with’ ‘interacting each other’.

Social robot 7| social presence =? Robot 0| A2t s,

— (C) & Z|H CHE social robots 2| social presence 7-H|/& O A[.

X712 3 xt=

StAL, B B 22 Ao &0I5tA L, 0|0r7| & SeiF2L, AelLt 7|8 MSots Ol A8 =+ AL

[Words and Phrases] launch ZI&3tCH motorize &332}t track FXSICE presence EX{(Z) manipulation &%, &

& distinct £33t feature £7% suggestive of ~2 2A|St= engagement 1 Z device &X| intermediate OH7H|



